20km

2011 5 13 19

00

)
*1 GM( - )
*2
*3Nal( - )
*4
/)
)
1 62k 5 13 8 37 137
2 56k 5 13 9 20 217
3 a6k 5 13 10 23 267
4 e 5 13 15 06 107
5 ok 5 13 11 16 057
6 2k 5 13 11 39 087
7 2k 5 13 11 48 097
10 x - 5 13 14 49 077
A1 o - 5 13 14 39 117
12 20k 5 13 12 59 037
13 a7k 5 13 12 51 037
14 2k 5 13 12 41 027
15 2k 5 13 12 26 077
20 a1k 5 13 13 15 047
21 T 5 13 14 45 257
22 25k 5 13 13 34 047
23 - 5 13 13 24 077
31 20k 5 13 10 48 69"
32 alk 5 13 10 30 1727
33 23 5 13 10 05 1427
34 20k 5 13 12 40 487
36 0k 5 13 9 42 287
37 a8k 5 13 10 11 317
39 (ke 5 13 10 47 077
41 21k 5 13 12 07 147
43 ook 5 13 10 27 057
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30km

1 )

71 - 13 9 10 047 (NBC )
72 a1k 13 9 35 037 (NBC )
73 25k 13 9 56 027 (NBC )
75 a3k 13 8 23 017 (NBC )
76 ok 13 10 36 037

79 2ok 13 11 14 9473

79 -~ 13 10 45 83" (NBC )
80 - 13 12 53 047

80 - 13 7 15 037 (NBC )
81 - 13 9 50 1387 (NBC )
83 ” 13 11 50 3727

83 -~ 13 10 53 370" (NBC )
85 “obm 13 14 00 03" .

85 sk 13 6 00 027

86 s3 13 14 00 06 -

86 s3km 13 6 00 087

87 pr 13 14 00 077 -

87 sokm 13 11 15 087

87 sokm 13 6 00 08"

88 sk 12 17 00 107

89 sokm 12 17 00 147

101 55k 13 9 45 097

102 oo 13 16 18 13"

103 ok 13 13 15 057

104 — 13 14 01 137

105 o1k 13 11 55 047

106 sk 13 10 05 037

107 23k 13 13 35 207

108 13 13 52 297
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